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A construction of the Hamilton system reproducing a singular
Lagrange system

Kentaro HAMACHI

Abstract

We present some problems of the method given by Dirac to construct a Hamilton system that is
equivalent to a given singular Lagrange system. We give the method as a reformation of this ‘Dirac’s
recipe’ to settle these problems definitely. We give the proof that the solutions of given Euler-Lagrange

equations are obtained from the solutions of the Hamilton system by this new method.

Keywords: singular Lagrangian, constraint mechanics, Hamilton system, Dirac’s recipe, ideal of con-

straints



